(ANB)cXCcA°|BZ

(2, 44 c X {1, 2, 3, 4} o]t}

A XxE=2, 45942 2=1{1, 2, 3, 4 9
M 2472 = 22 = 4(7H) oIt




Uh& Witho]of 1 glof A At 22 Uetl= U

- @
O (AUB)N (A°U B) @ (AUB)U(ANB)

® (ANB)U (A - B°) @ (AUB)N(A°N B°)
@(AnB)u(AanC)

#ttolo] 132 (ANB) U (AUB) < YETtE. (AnB) U
(AUB)° = (AN B) U (A°N BY)




@ A€ =1{2,3,4,5,6,9,10,11,12}

@Bc =1{1,4,6,7,8,11}

® (AN B)C ={1,3,5,7,8,10}

@ AU(AUB)® ={1,2,4,6,7,8,10,11,12}

@anB =178

(ANnB)¢ ={1,4,5,6,7,8,10,11,12}

AU(AU) ={1,2,4,6,7,8,9,11,12}
Hetq 22 AL @, Goltt.




@® AUB=4A @ A-B=U B®IANB =@

@ A°c B ® A°UB=0

~&B

{(A-B)U(ANB)}NB = {(ANB°)U(ANB)}NB = {AN(B°UB)}NB
=(ANU)NB=ANB.. ANB=A—>ACB
¥ AcB4YH,




AN (A3 UAy) = (A2 NA3) U (A2 NAy) = Ag UAy
10 <6n <100 9lA4 2<n <16 .. n(As) =15

10 < 4n <100 94 3 <n <25 .. n(A4) =22
10<122 <100 °1A 1<n<8 .. n(Ap) =38
JIHER n(AgUAy) =15+22-8=29




